Flyingbear-Tornado Installation Manual

1.Frame installation mmmmsm e ————— el
2.Driving wheel and idler wheel installation-----======eeeeceecacaeaaov 2
3.Y-liner guide rail installation--------- mmmmmmmmmmmmeemmeeemeeee 3
4 X-linerguider rail installation-----==-=====-ceeecccueu--. 5
5.Z-hot bed installation---========s=seemeemcencnn-- === m—————— 10
6.LCD and other parts installation---------=====-e---- --- -13
7.Power installation mmmmsmmmmmm e ————— mmmmmme===q§
8.Synchronous belt installtion-------=======----- mmmmmmmmm—————— 16
9.Nozzle and tank chain------=======eceeu--- -- --17
10.Extruder installation e 18
11.Auto leveling installation(only if you have TL touch
option)--======s=mumeuu-an e 19
12.Wring diagram----=--======e=acceecue-- === mmmmmmmmmmmmee———— 20
13.Setting up slicing software mmmemmsmmmm e eae 21
14.Setting auto leveling SeNSOr--========semeemememmmmee e eeeeeae 23
15.First print model----=======ssceeeanun--. e 24




1\ Frame installation

Step 1
M4*8 bolts
Frame column
Frame top cover
M4*8 nut
Step 2

M4*8 bolts



2. Driving wheel and idler wheel installation

Step 1

Motor fixing plate

Lock nut 2GT pulley

*
Idler block M3*6 bolts

@5*14*M4 nut

Step 2

M3*8 bolts




3. Y-linear guide rail Installation

Step 1

Linear guide rail\

T 1 7 \ _~M3*8 bolts
i

T nut \‘Profile 2020%402

Step 2

Y- cushion block

M3*8 bolts



3. Y-linear guide rail Installation

Step 3

Limit switch \

M3 nut

Y- limit fixing plate

M3*6 bolts

T nut

=

4



4. X-linear guide rail Installation

Step 1

M3*14bolts

M4 locknut
; Limit switch
I

X axis fixed plate

5mm spacer

M3 nut

?#5*14*M4 nut Idler

@5*14*M4 nut
M4 lock nut

X- left fixed plate .



4. X-linear guide rail Installation

Step 2

M4*6 bolts M3*6 bolts



4. X-linear guide rail Installation

Step 3

M3*8 nut

Step 4

M3*8 bolts



4. X-linear guide rail Installation

Step 5

The X axis and the Y axis
must be perpendicular to each other




5. Zhot bed installation

Step 1

M4*12 bolts

Screw connecting plate
Linear bearing
M4 nut

10mm optical axis

axis fixing block

Step 2

M4*8 bolts

-
L



5. Z hot bed installation

Step 3

M3*8 bolts

Screw nut

M3 nut

T10 screw rod

M4 grub screw

Coupling

M3*8 bolts

10



5. Z hot bed installation

Step 5

M4*8 bolts

Hot bed connecting plate

M4 nut

1



5. Zhot bed installation

Step 6

M4*30bolts

Hot bed

Hot bed spring

Butterfly nut




6. LCD and other parts installation

Step 1

MKS mainboard

M3*14 bolts

Fan 8015

M3 nut
M3*6 bolts

M3*14bolts Power switch 5mm spacer

Z- limit switch fixing block

M3 nut M3*14 bolts

]

13

Limit switch



LCD and other parts installation

Step 2

6.

M3*8 bolts M3*8 bolts

M3*6 bolts

7



7. Power installation

Step 1

M3*8 bolts

Power supply socket

M3*3 bolts
M3 nut

Step 2

M4*8 bolts



8. Synchronous belt installation

Step 1

Belt mounting method

L
1

Press block

-

Synchronous belt

M3*8 bolts

16



0. Nozzle and tank chaain installation

Step 1

/M3*6 bolts

Step 2

M3*8 bolts

M3 nut

17



10. Extruder installation

Step 1

M4*8 bolts




11 . Auto leveling installation

Step 1

M3*6 bolts

M3*8 bolts

[dler block
M3 nut

Automaitic leveling senor

19



12. Flyingbear-Tornado wiring diagram

4020-Fan X-motor

(dule extruder)
Nozzle heating 2

R

|

Ted §
(Ch +

v

&= Ap

g /|
c2s .
‘ 296 <y 353D 0NS

Z-motor  Z-motor

9P

(dule extruder)
Y-motor

X-Limit switch

g MKS Gen_L V1.0

o

(=300
R HiT]
RS [¥sV]

C26 C27

b (ass) (&)
{"D- THITIT

| Rao v2

8010 Fan

Auto Leveling
TL-bouch

L]

Nozzle Bed ‘Nozzle
thermistor 2 thermistor thermistor 1
(dule extruder)

Nozzle 1
Power supply socket

| &

il

AL




13. Setting up slicing software

3D printers have very many slicing software, such as Cura, simplify3D, and so on, but

we only introduce how to use repetier-host.

Software download address: https://www.repetier.com

When the software installation is complete, click "printer settings",and then follow the

pictures in turn to operate

[ Repetier-Host V1.6.2

File View :Config | Printer Server Tools Help

o E Language »
o N Lc: P‘rinter SetiiT\QS S Ctrl+P )
F Firmware EEPROM Configuration Alt+E
ﬁiﬁ"f Units of imported Objects »
c ’ Preferences Alt+P

R

OO

Printer Settings
Printer: FlyingBear

Connection Printer Extruder Printer Shape Scripts Advanced

Connector: Serial Connection v
Port: CONG
Baud Rate: 250000 -

Transfer Protocol: |putodetect v

Reset on Connect DTR low->high->low
Reset on Emergency Send emergency command and reconnect
Receive Cache Size: |127

Communication Timeout:) [s]

[JUse Ping-Pong Communication (Send only after ok)

The printer settings always correspond to the selected printer at the top. They

Printer Settings
Printer: FlyingBear

Comnection Printer Extruder Printer Shape Scripts Advanced

Travel Feed Rate: 4800 [an/nin]

Z-Axis Feed Rate: 100 [am/nin]

Manual Extrusion Speed: 2 20

Manual Retraction Speed: 30 [an/s

Default Extruder Temperature: 200 *e

Default Heated Bed Temperature: |55 s

[¥] Check Extruder & Bed Temperature

[] Remove temperature requests from Log

Check every 3 seconds.

Park Position: X: [p ¥: [o 7 ain: [0 [anl

Send ETA to printer display
[ Disable Extruder after Job/Kill

[“] Disable Motors after Job/Kill Printer has SD card

[nn/s]

[JGo to Park Position after Job/Kill
Disable Heated Bed after Job/Kill

Add to comp. Printing Time8 %]
Invert Direction in Controls for [] x-axis [ v-axis [ z-axis
OK Apply Cancel
=)

21

Object Placement §

+)

Port :According to the ports in Device
(COM&LPT) to choose,
Each

manager
(Notice: computer is
different,my computer is COM5.)

Baud Rate: fillin “250000”

Other parameters remain the same.

Reference temperature:

Print PLA

Extruder temperature: 190°C around
Bed temperature: 40°C around
Print ABS

Extruder temperature: 230°C around

Bed temperature: 80~100°C around

Other parameters remain the same.



13. Setting up slicing software

Printer Settings

Printer: default A |

Comnection Printer Extruder Printer Shape Scripts Advanced

Number of Extruder: 2 =

Nax. Extruder Temperature: 280

|120
12 [mn® /5]

[JPrinter has a Mixing Extruder (one nozzle for all colors)

Max. Bed Temperature:

Max. Volume per second

Extruder 1
Name:

Diameter:

[mm] Temperature Offset: 0 ‘ [°cC]
—

Color:
Offset X:
Extruder 2
Name:

Diameter:

[mmn] Temperature Offset: [::::::::::::::::] [°c]
Offset ¥: 0 [mn]

Color:

Offset X:

o [l [ o d L)
SIS IER
IS IS

oty ] [ Caneal

Printer Settings

Printer: default M |
Commection Printer Extruder Printer Shape Scripts Advanced
Printer Type: Classic Printer v
Home X: Nin v~ Home Y: Nin v | Home Z: Min v
Imin [0 | Xmax [380 Bed Left: [0 |
¥ Nin D ¥ Nax 300 Bed Front: D
Print Area Width: mm
Print Area Depth: 300 mm
Print Area Height: 290 mm
The min and max values define the possible range of extruder coordinates.
These coordinates can be negative and outside the print bed. Bed
left/front define the coordinates where the printbed itself starts. By
changing the min/max values you can even move the origin in the center of
the print bed, if supported by firmware
g
=
a E
!
|
0K Apply Cancel

P¥a

ST E

For double nozzles, please fill in 2
Number of Extruder:1/2

Name: P9.2-0.4
Diameter: default it is 0.4,Please fill
in it according to your nozzle’s

diameter.

Other parameters remain the same.

Printer: Flyingbear- tornado
X Max: 350

Y Max: 300
Print Area Width: 350

Print Area Depth: 300

Print Area Height: 290 (Notice:The
actual size is 300,but due to each
customer’s installation is different,it
is possible to cause the size is small
than 290.So it’s more safe to fill in
290. )

Other parameters remain the same.



14. Setting auto leveling sensor

Open the repetier-host and connect to the printer.select “manual control’tab and

you should see’G-Code”.Write in this field “G28”and press send button,Then send

the G1 Z0, the screen will show that the Z axis is "Z=0".Now you can operate the
printer by LCD screen , select "prepare/move the axis / 0.1 mm/move z" according

to the menu . Move the Z axis, until the distance between nozzle and hot bed reaches
the most suitable distance.(the best distance between nozzle and hot bed is probably
a piece of A4 paper). Then record the Z axis numerical that LCD displays (This
numerical value should be a negative number, let's assume this value is -1.5).And then

we send the G code "M851 Z - 1.5", finally send G code "M500" to save your changes

- X

% & U

Printer Settlngs Easy Mode Emergency Stop

‘ - Disconnected
G-Code: l |

[ — —
| “§§
a

0@@0@@0@@

Bt L T T T 100 3

=

Before slicing, add the auto Ieveling "G29" code

[/ Repetier-Host V1.6.2

= [} X
File View Config Printer Server Tools Help

N ol '~

O . B. ¢ o e %

Connect Load Toggle Log Printer Settings Easy Mode Emergency Stop

Object Placement |511CET| Print Preview MNanual Control SD Card

3D View Temperature Curve Cura

CuraEngine Settings Close 1
Print Filament I> . -
Default 7 & Save W Save as ... il Delete
Slicer: CuraEngine ~ % Manager
& Import & Export g
. . A
Speed and Quality Structures Extrusioan‘COdesl Advanced I # Configuration I
v_ -ode ; Default start code N Print Settings: 2
nd G-Code g
Before Extruder Switch Igzg 'A222e1232§2§?:] Print Configuration: efault N
After Extruder Switch -
Gl 215 F{2_TRAVEL_SPEED} Adhesion Type: None v
M107 ; Turn off fan
GS0 ; Absolute positioning Quality: 0.2 mm v
M82 ; Extruder in absolute mode S = o ———
{IF_BED}M1S0 S{BED} upport Type: ouching be! b
Croato Defa.ult ; Activate all used extruder
Y;:u can add ?Ynarglg values, {IF_EXTO}M104 TO S{TEMPO}
Wat get replaced during {IF_EXT1}M104 T1 S{TEMP1} ool
= G92 EO ; Reset extruder position
v Slow Fast
Print Speed: 45 mn/s
Outer Perimeter Speed: 38 mn/s v

Show in Log: @Commands ©OlInfos OWarnings OErrors @ACK Oluto Scroll @i Clear Log (Z]Copy
4 0 OpenGL version:4.3.0 - Build 20.19.15.4549 A
OpenGL extensions:GL_EXT blend minmax GL_EXT blend subtract GL_EXT blend color GL_EXT abgr GL_EXT_ texture3D GL EXT clip volume hint GL
Disconnected: default - Idle

=

23




15. First print model

There are two ways to print: use the SD card to print and use the computer to print.

It is recommended to use the SD card to print. The computer will be standby or have other

abnormal situation to interrupt the printing process when use the computer to print.

Attention:The hot bed needs to paste the masking tape or painted with the self-adhesive

before printing.

Introduction of using SD card to print

[ Print-Rite ColiDa Repetier-Host V155 - Test Model

o

File View Config Printer Server Tools Melp
O B.»p.m ¢
Disconnect  Load  StartPrnt il Print Toggle Log

3D Viev Tesperature Curve

Printer Settings Easy Mode ColiDo Emergency Stop.
Object Placemant glicer Print Previev Namal Centrel SO Card

B HOAPadh

®  Test Nodel 1 > @ ]

[ Repetier-Host V1.6.2

Connect Load Toggle Log

File View Config Printer Server Tools Help

- o x

®

Printer Settings Easy Mode Emergency Stop

3D Vier Temperature Curve

C|

XOM@O O P4

Object Placenent Slicer Print Previev Manual Contrel SD Card

1

P> Slice with CuraEngine

Kill Slicing

slicer: lexrlEns:.m

S|

Print Settings:

Print Configuration: efault

2|[Bcontisuration =

v

Adhesion Type: Hone ]
Quality: 0.2 mm ~
Support Type: Touching Bed ™
Speed:
Slow Fast
& Repetier-Host V1.6.2
File View Config Printer Server Tools Help
0.8. ¢
Connect Load Toggle Log
3D Viev Temperature Curve Cura
CuraEngine Settings
Print  Filament
Default v W save
Speed and Quality Structures Extrusion G-Codes Advanced
Speed
Slow Fast
Print: [s0 60 | [an/s]
Travel: [150 150 | [an/s]
First Layer: \30 30 \ [an/s]
Outer Perineter E 60 | [an/s]
Inner Perineter [#0 [0 | [an/s]
Infill: o0 100 ] [an/s]
Skin Infill: [0 60 | [an/s]
Quality 3
ettt cutivy:  [lo.2em v ]
Selected Quality Setting 5
T Hane: 0.2 mn
Layer Height: [o.2 [mn]
¥ | First Layer Height: 0.3 ] [anl
° ° First Layer Extrusion Vidthg 100 (%]

Click the botton, load the folder

“Test Model” in “FlyingBear-tornado Printer”

Set parameters according to pictures



15. First print model

[ Repetier-Host V1.6.2
File View Config Printer

0 .B. ¢

Connect Load  Toggle Log

Server Tools Help

G Repetier-Host V1.6.2

File View Config Printer Server Tools Help

3D View Temperature Curve Cura
CuraEngine Settings
Print  Filament

Default

Speed and Quality Structures Extrusion G-Codes Advanced

v @ save

pefault Quality:

Speed
Slow Fast

Print: 20 | [eo | [nn/s]
Travel: [150 ] [150 ] [nn/s]
First Layer: [30 ] [0 ] [nn/s]
Outer Perineter [0 ] oo ] [nn/s]
Inner Perimeter [20 ] [so ] [nn/s]
Infill: [eo ] 100 ] [nn/s]
Skin Infill: [0 ] oo ] [nn/s]
Quality 6

Selected Quality Setting

Name:
Layer Height:
First Layer Height:

[nn]
[nn]

First Layer Extrusion Widthf 100 %]

@& Print-Rite CoLiDo Repetier-Host V1.5.5 - Test Model

File View Config Printer Server Tools Help

O . B.»p. 0 ¢

Connect Load  Toggle Log

Printer Settings Easy Mode Emergency Stop

3D View Temperature Curve Cura

NQBROLEPQ

[

wome

Disconnect Load  StartPrint  Kill Print Toggle Log Printer Settings Easy Mode ColiDo Emergency Stop
3D Viev Temperature Curve Object Placenent Slicer |Print Previev |Nanual Control SD Card
C > Print ® Edit G-Code
X B Save to File |5 saveforsD Print
10
Q Printing Statistics
Q Estimated Printing Time: 6m:11s
ﬂ Layer Count: 19
Total Lines: 1322
i Filament needed: 123 mm N
= save the file in SD card.
Visualization
7 [ Show Travel Moves
@® Show complete Code
O Show Single Layer
O Show Layer Range
First 0 >
Last 0 5
Show in Log: @Comnands OlInfos OVarnings OErrors @ACK Oduto Scroll @Clear Log  @Copy
<Slic3r> Done. Process took 0 minutes and 0.472 seconds ~
<Slic3r> Filament required: 123.4mm (0.3cm3) v

Connected: FlyingBear

Extruder: 30.3/205°C Bed: 30.2/60°C

Idle

Choose

e

Then wait a moment,after the heating process all finished,it will begin to print.

After insert the SD card into LCD,choose “Prepare”----"Auto home

“Print from SD”

25

bject Placenent Slicer Print Previev Manual Control SD Card

P> Slice with CuraEngine Kill Slicing
Slicer: [CuraEnsine < [ o2Manager
@ Configuration S
| Print Settings:
i Print Configuratiof: efault i
i Adhesion Type: Brin v
Quality: 0.2 mn v
upport Type: None M
| Spead:
i Slov Fast
Print Speed: 45 m/s
Outer Perimeter Speed: 38 an/s
Infill Speed: 71 mn/s
nfill Density 54%

Enable Cooling

Filnmant Qattinne:

After slice is done,Click “Save to File” to

”

Choose “Prepare”---"Preheat PLA”----"Preheat PLA”

----- ” Test Model”



